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3 3 600000 'ItqnpruJp h qunnrlururnurhlnrptp 24,411.6

33611120 $ulfnurfr4|rh 10 rlq az hurF 43,827 73629,36 1 680

33621450 ULl1n4fqfh l0 iiq CZ h-P 18,9 s67000 30000

33621390 Udfn4urpnh 200 ilq h*F 61,9s 371700 6000

3365r112 Uilnpufgf 1lrL +\1ul{mtru:ururppnt | 5 6/25 / 5[1 7'
SL 1090,95 13 0914 120

336s1112 Uilnpulgffth +\1un{ntyurtrurppm 228l5/5il1 7'
SL 2021,25 242550 t20

13600000 Unrl$ughururil|r4 hururplrnul 2 0%/ 5 tI1 CZ $L 485,1 11642,4 24

33661 I 19 Uhurudlrqnlhururpfrnr-rl 50% 12 {1 CZ uFqulU 34,65 2772 80

33600000 Stnfpfrqfrh l0 riq C2 h-p 64,113 25645,2 400

33691140 Ughufpfruurhirh l00 rlq 7t h*p 68,2395 20471,85 300

33621720 Ffrunqpnlnl5 rlq 7' h*P o ort{ 148837,5 I 5000

33621720 tr[unqpn1n1 10 dq h-F 29,9t4s 4487 17 ,s l 5000

33621260 h$h4pfh h/p + glurmgfrh h/ppmffr4 12s rI1 $L 465,6s4 55878,48 t20
336213.60 afshphLh rfnrffr\ 2,1 lq cz ilnilf\ 111,24 66144 F 600

33691212 'Ifnudfrb+hhuqhpfr4frh 500 rfq CZ h-F 89,1 45 55091 6, I 6180

3363 1380 Sryqhpfrqnh hlr4pnplnplr4 1 5 0rlq CZ h-F r01,724 42124,08 420

33641413 'Ihpuurtfhrnruqnh 4 rlq/1 il1 uFquU 76,65 /oo.f 100

33641413 'Ihpuurr.ihr.nurqnh 0, I %-5rI1 c2 $r 686,9835 4t219,01 60

33621380 'Ihpuullhuruqnl.r 0,5rlq CZ h-P 39,648 79296 2000

33621380 'IfqnpufrL 0,25 rlq CZ h-F 6,069 24276 4000

33671 130 'IfShLhfapudhh l%-1,0 uFqurU 1A a<< t212,75 50

33621450 I-|qfhnqpfrlz0 rfq h-F \5 44 443520 8000

33631310 r}f\1n$htrur\tnurnpfrnr-tt+fr4n\ur3frh 2 rI1 C2 uFqulq 526,ffi 263340 500

33621700 Uhurnqpn1n1100dq 7' h-P 32,235 208882,8 6480

33621760 hLurlurqpfrl 10 rlq 7' h*F 5 5545 133308 24000
33621760 hhu1urqpfr120 ilq h-F 18,9 378000 20000

33621520 htru:1uqpfr1 10 r.iq +hfr4pnplnpulru-rqfr4 25r.Iq C2 h*F 162750 s000

33621s20 htrurluqplrl20 rlq + |rL4ruqurilfr4 2,5riq c2 rrrnL+ 2324,574 t534218,84 660

33600000 'Ifo\uut4pf\ urfh\urfru 3 rlq CZ rlhlurrln2tr 148,071 59228,4 400

33642230 I-hnpfrpnpufrtrI00 ilq C2 hrup t3,639s r 09l t6 8000
3367 1 | 14 hnL$ffb 2,4%-5 rI1 C2 uPquu 41,58 2494,8 60

336s 1280 Lfr$nrpnpur.uqfr4 200rlq cz 4h4tuqruurfrd 63,21 91022,4 r440

336611s6 t+filn1n10,5 %-5 ri1 SL 408,24 r46966,4 360



33642240 fdlrulfu:qn1 10 rlq hutF 68,229 1228t2,2 1800

3367 1117 Stum$nh 4 %-10 ri1 SL \54 A 277200 s00

3363t290 hpmqpnghtr 100 il{5il1/100ri1 Sl 77 r,75 92610 t20

33631290 hpmqpn$htr 200 rlqN 30 h*F 5 56S 14469 2600

33621600 hh4uqurilf4 1,5 r-iq cz h-F 50,2005 361443,6 7200

33631200 PlnpurdShhf\n1 0,2s% -5 rlfq QL 460,32 27619,2 60

33611210 Um1$u:uur1urqfh 500 rlq 7' h-p 58,8 84672 1440

33691213 9uphupp{urlhh pughlLtph qurLnfrdhhp 4h4urqururfd s0,4 262080 5200

3361 1 180 Lu:\urnrlnqu 670riq/rl1; 200ri1 7'
$L 2035,719 t22143,14 60

3369 I 1 86 'lfpu:ghrnud 800 rlq h-F 54,978 329868 6000

33691222 'Ilfptughururil + ghbuphqhL 4hrlurqururfrd 4t,076 295747,2 7200

33611420 rrurpfrnuf 'I3 500/200 c2 hurF 33 396000 12000

33621370 hqnunppf4 4[L]rurpuur 20 dq h-P 28,224 I 0 l 606,4 3600

33621370 hqnunpplr4 4fhlrurpuru 40 rlq CZ h*F 47,2s 1 89000 4000

3361 I 1 80 Lur\urnr-1nqur 667ilq/rl1; 500il1 $L 4177,s09 200520,432 48

33661121 Ughuhluuftgblurpllnl + rftuqhfrmtf h/ plnpfr4 150 ilq hurF 20,89s 1002960 48000

33661121 Ughtnf luuflrg[lurppnr I 00 rJq h*F 26,25 84000 3200

33621690 9uprlh4frpl 12,5 rlq h*F 28,35 204120 7200

33651 l3 1
Untl$urilhunputrqnl +urplllhrnnqpfnl 240 dq /5

[t/120 C2 $r 762,3 76230 100

336217s0 Lf$hafqfL 10 tlq N100 CZ h-F 14,5845 5833,8 400

33661 t27 Llhuurqlulnl hulnplrnul 500 rlq CZ h*P 6,048 3024 500

33661121 Ughuf luu$gf turldpnl +uprpurghuru:tfn1 + \nQhfrh rJ1 h*F 11 4A 26880 2000

33600000 .luqtfth 30 q SL l 59,852 959,112 6

33631230 tln{f4nlr 3n4 10% 12orl1 VL $r 1 108,8 28828,8 zo

3363 1200 €1npu:ilShhlr\n1 + rlhpfrprpurgf l qurp\nrd 46t,1 7377,6 t6

3363t200 punrp plnpu,ufShhf\n1. 10%25 o,1 qurp\nr-d 441 10584 24

33600000 Lf hf il purlqurflr\ur\rub C2 qurp\nd 3t4,16 7539,84 24

33621290 I-ntbmSp ur4phhu{rtr 0. 1 8% hi1 unqur\ r30,552 1363,32 10

33621440 Ln6m3pphh4urqnl 1% 1.0 C2 uFqtuU )1 11 3326,4 120

3362t440 Lntbnr-1p phtr4urqnl l% 5 rI1 uPqulq 41.58 83 1,6 20

33600000 1-E 91trfu:uurlrh 5rll upqurq 203,616 8144,64 40

33621640 Zfr4pn\tupur[qnh u:2pfr punrp 0.5% 3q qurp\nd 83 1,6 19958,4 .A

33600p00 Utrnr-2ur4plr uqlrpu 30 il1 pt 97,r355 29t4,065 30

33621360 Lbupnqllrgbpblr hurp 0.0005 h*F 8,169 326,76 40

3366tt22 'Ihupu-rghururilnl 500 rlg h-F 4,62 6930 1 500

33621320 9tuu{ur}unur}r tpunpruur hurp h*F 2,016 7257,6 3600

33621320 1-b 
lruu{ur}unur}r \urp 30 rI1 SL t65,459 8272,9s 50

33600000 .lur[r4n1hurp 0.06q C2 h.uF 9,702 485, I
33621760 htruluqpfl5 rlq 7' h*F 5,04 2520 500

33600000 1-b Uf4nquf\ rulp.qup 25% srJl SL 2772 443s2 16

3361 1 150 'tlurtr\phurulrh l 0000 rftI hr,tF 88,0845 88084,5 1000

3362 I 580 Zf 4pnplnppfrurqf 4 2s dq 7.' h*F rf,76 21168 I 800

33642220 Uhpflqphahf qnlntr 4 rlq h*F 68,67 247212 3600

33642210 Aph4tfrqnlntr 0,005q h-F 8,4 6048 720

33621310 Spfrlhpflhf apurqfrtr,qpnqf nhunn 500 rlq C2 h-F 97,65 234360 2400

33611341 tlnqurf{ruuril}rh 3-5u C2 h*F '71 01< 218925 3000

336t1341 Umyr[rlfrtnutifrhLtf o2urpur\ SL 2003,29s 240395,4 t20
::?ooooo Opufrtfhuruqnfirh 0,0 1%-10 rI1 c2 Sr 941,493 470746,5 500

33600000 Opufilhnurqnfrh 0,025%- 1 0 il1 SL 902,727 63 1908,9 700

3365 1280 Lf$mpnpuurqfr4 220rlq /5rI190ti1 $1ur\nh /o2urpru\ $r 2047,5 245700 t20

33600000 trpntin\plrqulrh 2,5 ilq h*F 109,095 124368,3 I 140

33600000 'Tln$npurnlnh 4 tlq 7> h*F 64,0s 230580 3600



3362 460 Ahp$r4nqpf14 ilq h*F ?o <?r5 189756 4800

3362 460 'tlhpfh4nqpfl8 ilq h-F \6 Aq 271152 4800

3362 460 'tlhpfrh4nqplrl5 rlq hurF t09,2 393120 3600

3362 460 tlhpfL4nqp[1 loilq c2 h*P r36,60s 491778 3600

J -J O.f l1t Urlnpufrgltfrh 250 dq CZ h-F 35,6895 t60602,75 4s00

3369t232 Lfrfhunr-fir4 100 tiq h*F 44,2995 53r59,4 t200

3361 l 100 Orlhqpurqnl20 {q CZ 4h4urquufd t2,81 r84464 14400

33671t13 UurpnturullnlgnqurghF 100 illlq/ 200 4nqur C2 QL 1489,6665 s36279,94 360

33691210 Uurpn$u:trurfrL 0,25 dq-l il1 uFquU 1050 20

336211.10 .lurpfturplrL 2,5 rlq -t hurF q)4 92400 10000

33621620 Uulfrpnhnlu\utnh 50 ilq -, 4h4urqulnlrd s? ?ot5 731477,2s 13700

336s1253 Srurfnpu[Shh 20 rlq h*F 64,974 701719,2 10800

33631r70 Shupugf\1JtL l%3 q/urlpfr puntp/ qrup\nr-d 780,1s I s603 20

33621310 Splllhurruqlr4lrtr 35 rlq UII UL hurF ?l ?q5 565110 I 8000

33691230 Spnpuhnnrurfh 300 riq 4hlurqruurlrd )1 \<) 4r3280 1 s000

33691230 Spnpuhnnrurfrh 2% [.q40 q cz qrup\md 278,25 8347s 300

3366rt22 'Ihuprughrnrutfnl dnil|r\ 1 50 ilq dntlfll 54 
'5?5

54?5? 5 1000

33661122 {Iurpurghurulinl ilndf \ 3 25 ilq -, ilndf\ 65,814 65814 1000

33661122 'Ilupurghtmurfnl ilndf\ 500 ilq UL dndf\ 105 26250 2s0

33661122 'ThupurghuruLfnl 120 ilq/5 d1/100 rI1 Y2 $r 41s,8 99792 240

33691204 ShhfL4fnh 0;03q h*F 1,4 ?.14 102942 3000

33621210 bn\*plt unt$urur 50 dq/5 il1-100 $L 1995 1 19700 60

33621410 Unpunhfr4ftr 0,4 rlq cz h*F z)t,J 4152'15 1750

33621590 $nrpuruhtffr4 1%-2 {1 cz unqurq 27,72 1386 50

3367112s Uilppnpunl3 ilq/rf1 100 c2 Qr 680,4 81648 t20

33611170 'Ipntnrut{hp}rb 40 ilq N100 c2 hrup 8,3 16 83 16 1000

33621763 Lhplnlurlnl5 rlq 7' 95,1405 30863s,782 3244

3361 I I 10
Vuftrmrl uruqurnurq]rhururl58ilq duqhfrnul

ruuu urnurohhurur 1 40r.[o
7' h-F 47250 r500

3660000 Ufrilhuf\nlr 7'
SL 1829,1 219492 120

33621s90 Snrpuruhrffr4 40 rtq h-P 4,41 52920 r2000

33691 187 {hhqngtghb 10 ilq C2 h*F 71,4 1 1s668 t620

33691203 Lnqupururh l00 rfq C2 hruF 5 8,8 105840 I 800

33631310 rlhhn$hhu\ 100 ilq cz ilnilf\ t06,722 )JJOI 500

3362t540 auqur{tpf h hf 4pnplnnhq uFqu\ 32,55 976,5 '+' 30

3361 r I 10 Ulmdlrtrnuf+rlurqhfrnr-d hlr4pnplnpf4 170 d1 CZ SL 1 048,9 I 85 37761,066 36

336srr20 'tlpn\u4|rb 2%/2il1 uFrlruU )l )\\ 485 l 200

33611360 tun1h\ur6|r$tnn1 15000 b 10/rlp CZ SL 716,824s 286729,8 400

33651224 Uhurnurphpurun l0 ilq h-F 196,56 58968 300

33600000 trnprlu1n125 il1 SL 126,472s 6323,62s 50

3363 13 10 rllr\1n$hhur\ o$pultlf\ 0,1% - 10il120 FL 1 801,8 64864,8 JO

336ttt20 Surimnf4fL 20 ilq h*F 13,65 38220 2800

33621460 'tlhpf L4nqp|y'ulip4f qfrh l o/5 h*F 20ts89s s44291,65 2700

33621460 tlhpfb4nqpf /uril1n4[qf b s/s CZ h-F 16sJ95 298431 l 800

3361 1 150 AruL\phurulrh 3500 UU 7' h-F 1) A7A\ 243258,75 7500

33621140 \1nqfr1nqph175 rJq VL 4hrluqurufd 112,35 808920 7200

33691199 Ufrftduplrl/\urpufy' 90 ilq 7, 4tlurqururfrd 14,028 50500,8 3600

33600000 9urpuqhhuflr 300 ilq U1 qhrlurqururfd t59,264 143337,6 900

336s1223 UU hru\ur$qrlurrugilurtr urtrururnpuflr 1 il1 unqqlq 210 21000 100

3365rr99 Zu\ur\ruuru4ntp;ruh qunn{uruururhlnr-p uFqurq 6300 756000 120

3366t133 9urp4fr4nqur+I-hn4nqur 25tlq/25Odq 7' h*F tt3,4 136080 1200

3367 1113 Uupmrnullnl4 rlq CZ h*P 54,2115 48790,35 900

33671 I l8 Sfrqpn$lnpuutgfL 0.3% 1 0il1 $1u-r\ntr OZJ, I 12474 20





33621360 t hupnqfghpbL hu:p 0.0005 hutF 8 160 20

33621320 lu:ur{ur}unuf Lpuurpurur hu,rp cz hurp 2 648,9 300

33621320 -b 9uru{ur}unurf \urp 30 rf1 SL 185 7392 40

33621760 :hu1urqpfr15 riq h*P 6 5821,2 900

3361 1 150 Durh\phururlrh 10000 ilil h-F 89 53400 600

3362 1 580 lf4pnplnlpfuqf4 2s ilq h-F IJ t320

33642220 Utpfgphahfqnlnh 4 rIq u/. h*p 70 I 89000 2700

33642210 tlph4Lfqnlnt 0,oosq huF o 3413,34 360

33621310. lpfilhpflhfapuqfh,qpnqfrnhuln 500 rlq h*F 120 216499,s I 800

33600000 Fpndn\plqufh 2,5 ilq h*F 105 62823,6 600

33600000 ipflurlulrhnlnh 4 riq h-F 80 43052,31 540

33621460 tlkphlqnqpbla tlq C2 h*F 78 279871,2 3600

33621460 tlhpfL4nqpfl8 ilq cz hurp 110 397164,6 3600

33621460 tlhpfb4nqpfls ilq CZ h*F 127 141 s4s ? 2700

33621460 tlhpph4nqpfl loilq CZ h-F 162 43't667,3 2700

33600000 Fhururqlruurfrh 16 rlq h-F 1.44 43r14,0s 300

3361 1 100 Orlhqpurqnl20 rlq 4hrluquurfd 16 t69986,6 10800

3367 I 1 13 Uurpntururlnlgn4urgbn 100 ilqE 200 4nqru SL 1 780 242080 136

3362rt10 .{urp$upfrh 2,5 fq T' h-F 25 226422 9000

3362t620 Uqlrpntrnlur[unh 50 ilq 4hquqururlrd )o s04000 9000

3362t3r0 Spfilhuu:qlr4ftr 35 riq UII hrup 67 672186,69 10020

33691230 Spnpuhnmurfrh 300 rlq 4hqurqutnlrd 30 r 80000 6000

3369 230 Spnputnnturfrh 2% {q40 q qup\md J(r) 45738 150

3369 204 ShLfh4fnh 0,03q 7' hurp 39 29773,38 760

3362 470 Unpunhlr4[rL 0,4 ilq -t h-F 344 22r570,454 644

3362 590 $ntpurutrflr4 1%-2 {1 uFqur\ 30 483s,04 160

53rJ2 | t05 ,tpfr{u1n15 ilq cz h-F 99 136162,53 1380

3361 1 I 10
9ruftrmrf ururqrunurqlrhu:ul 5 8ilq rftuqh]rmri
uruu urnurohhurur 1 4Or-f o

h*F 27 40272,75 1s00

3362 I 590 Smpuruhtllr4 40 ilq 7' h*F 5 28287 6000

3369 l 1 87 .l[trqngtgfr 10 ilq G2 h*F 24 <o?t? ?t 2s20

33691203 I.nqupuah l00 dq 7' h-F 87 t19412,09 1380

3363 13 10 lbhn$hhu\ 100 dq dndfr\ 40 18170,46 460

3361 1 1 10 Ulnr-rlfrhnuf+riuqhfrmrl hf 4pnplnplr4 1 70 il1 Qr I 150 29909,88 26

3365t224 Uhurnurphpuuru 10 ttq h*F 'r) 1 90627,6 '' 400

33600000 9np{u1n125 rI1 Sr 201 20143,2 100

3363 13 10 ]f\lnQhhu\ o$putlif\ 0,1% - 10il1 cz Sr I 802 32432,4 18

33611120 Sulfnrnlr4|rtr 20 rlq CZ h-F l5 43071 2800

33621460 Atpf l4nqnf y'urfln4[q]rh 1 0/s CZ hurp 234 323547,21 1380

33621460 Ahpf L4nqnf /uil1n4frqlrh 5/5 cz hurp 191 r71923,85 900

3361 1 150 lurtr\pbuln$r 3500 UU cz h*F 38 114628,5 3000

33621r40 klnqlr4nqphf5ilq 4hrpuquurlrd 130 585000 4500

3369rt99 Uf frilrupf l/\u,rpuf / 3,s ilq 4hryuulururfd
t
1< 73 1 80,8 4800

33600000 lupuqhhurfh 300 tlq 4hrlurqu:rnfrd 298 268068,1 5 900

33691226 urpuniru4nl (rnpulftu4nfir hfrqpnplnp]r4) 50ttq h*F 49 48562,5 1000

33691226 urpul-tur4n1 (urpulfu4nfr hfr4pnplnnlr4) 10ilq/2il1 CZ utquq 185 369600 2000

JJOO I tJO 4|rurqhquri 5ilq h-F l) 77263,2 5040

3366tl41 fbLu:qhqurd 1ilq cz h*F l2 62233,92 s040

3366 I l3 1 f thnpurpplnnurl 1 00rlq, CZ h*F 20 59496,192 2976

33600000
urpf hhpulr$hbf 4f 1 (urpf hhpuh$ut'l'+l.t'
hhnnnornnhn) 2r-fo-

C2 $1u\nh 10 30807 3000

33661153 )tpututftpuqnh 0,5dq h*F 47 28440 600

j:rF
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33210000
€fil. Llnrphp tr dlruh{urq oqrnurqnpbr.furh pntd.
qurpurqurtrtp

d2
s,141.5

*

332112s0 C nhu\u[{ uqflnur\mg c2. urburfrq 70 91000
1 300

3321t230 f),rlft ufgfgu url-rurfrq 70 105000 1 500

1369t166
9nlnulplrur urqurp/ rlfr2ur{urlp qurhurtr2\nu

riurhnthtnh/
cz \q 100 150 15

33200000 Uqnqfpuil cz FL 2000 8000 4

33200000 uLs hur.n 40 48000 1200

33200000
Uuqurpuu-rur urtifrhnurpruhu$hn-qh npn2ilurh ptuur

hullurourbm
7' urhurfirq 40 48000 1200

33211260 Uhurf -Uurphqunfrqfrh O C2 urhurl|rq 80 28800 360

332tt140 trf$nmpfh 7' uhurl. 40 8000 200

33211120 Q11nr\nqur npn2rftuh phup hur{urpurbnt c2 urhurl z) 625000 25000

33200000 bnplnppurguluurppm l2Otfl3 % hurur 2000 20000 10

3321t160 trpLuurfh]rh 7' urLurl 20 24000 1200

33200000 Zhilnqlnplrtr C2 tt-n 5000 50000 10

33200000
Zfilhurlfh $nu$urururqurf npn2ilurh phup-

hurdurpurbnt
CZ urhurg 60 60000

1 000

33211r10 uh4[u\pfb-2 urnr-r.fr 3500 42000 12

3321 I t50 UfrqurLlmpfr npn2rlurtr phup hul{urpurbnr C2 urhurl 40 56000 1400

33200000 2ur\upf nuf\ +I'"\tn' runrqrlhurlrtr c2 QL 1500 3000 2

33200000 Zu\upfnuf\ 4bu\hp' ghSulpfrurpunl: bL $L 1 500 1500 1

33200000 Zu\urpf nuf\ +hu\hp' gh$nmopulril CZ $r 1500 3000 2

33200000 Zurllupfnnf \ +bu\hp' urilnlluf\1ur{ 7'
SL 1500 3000 2

33200000 Zurllupfrnulr\ +hu\hp' ullopuurgffirh $L 1 500 1500 1

33200000 Zu\u:pfnuf ll +hu\hn' gh$ulurqF4hrf SL 1 s00 I 500 I

33200000 Zu\upfnuf\ +t'u\tp' glrqpnQlopuurgfrh SL 1500 I 500 1

33200000 lu\upf nu[\ nhu\hn' o$lopuurgfrl: VL $L 1500 3000 z

33211130 tunlhurnhplrh urhurl 40 720000 1 8000

33211240 flhrlunnnfr4 $ur\nnp 7' urhurl 80 48000 600

33211310 fdpnrlpnqluuurfrbf npn2ilurL phup hu-tlurprubm C2 urhurl 100 320000 3200

332 1 1 190 8nf\lnh urhufr-U 10ri1 $1u\nlr 1200 t4400 12

33211200 Snfr\lnh urhurfr--F 10 d1 $1u\nh 1200 14000 12

33211220 5n[r\ph uhur]r-'] 10 rllunrqbp $1u\nh 2500 35000 14

33211210 3n$\pb utruf-8 10 rllunrqhp cz $1ur\nh 2500 7500

33 1913 10 Uhpflhh \urqnqrn $n2fr c2 qFuil 80 2400 30

24311190 Urlurppnr \nhghLup]r\ -, D-rt 20 10 05
24321440 ' pu:gurluurppnr \nhghburplr\ tt*n r200 2400 2

33200000 Lhp\ ftndruhn{u\f efilqu D-n 8000 8000 1

33200000 Na glrurpurur C2 \q 4 1000 250

33691 166 tifr2ur{ur1 p Oflhhg\nr UL qnuril 40 10000 250

33r4rt79 Zullurpubnt N2 /|rh4fr\uunpurlfrh p4phplr
hulluouEnr-/ huur 400 400

1

3362t64r
trd2\ur\uL qnpbfptthpf hu\upur\rnhpfrurl

urtuururhurhhr rihqnq t-t'-p 10000 80000 6

3362164r hru\upurluhpfrurl hhrlm\ plugn4 ilfr2ng <4'I> t-h-p
i

t00d0 s0000

33621641
hu\urpur\uhpful hh4m\ flurgn4 il|r2ng'&tnphpp

urh,rtnurhurhhr nr- hutlurn tr-n 10000 100000 10

33141160 Ol'1.npu:&u:l tru:1f h qh1 25 0tt1_ CZ huur 350 s2s00 150

3362164r 'lthnhchnnnr ZlY" 1{t C2 tt-n 700 56000 80

33671 138 Uqlrpu 96% c2 t-It-p 1200 84000 70

33141r17 trullpru\ 100.0 cz hruur 250 75000 300

33 141 133 -FlrLu 5*10 n2uuhpfrl CZ hurur 100 70000 700

3314tr33 Ffrtru 7*14 cz hruur t20 84000 700

33 l4l 1 16 tr|rhrn qfrqut 3*10 C2 hurur 400 16000 40

33 141 I r6 trfrhur qlrqut 3*20 hurtn 400 16000 40

3314t 129 'Ilrilur\ ri[uh{uq huru 25 25000 1000



33141114 Oubqlr$ pd2\ur\uh c2. il 100 12000 120

33r41100
Uh\ tutrqutllur oqururqnpbtlnq qfrhh\nlnqfrru\urh

,^,,,1,,,,^-^t-- -L,-.$,rrrlrilrrrrrrrr nu ruquzrr|ulr vuLrrYqu q 4t qu I
c2 ,lr-fohp 4000 240000

OU

33141112 Uqtrlu:hf uurhuu-nllr\ \unf hullurpdhp CZ hurtn t0 10000 1 000

33141142 Lhpup\fr1 uuhqnr{ 2.0q hruur 20 6000 300

33141142 Lhpurp\fr2 uruhrlml 5.0q C2 hurr.n 22 4400 200

33141144 Uuh4 08*40 c2 hurr,n 10 60000 6000

32351230 hUQ dtuqur{hh 63*30 hruur 630 l 89000 300

32351230 hU9ltllupn4 55ild C2 huln 100 42000 420

33691 170
fthhuqhh duqu{hhbhp} $f\uud' u-ulpru\fr2 15,0

CZ Lt'-n 10000 40000 4

3369r170 Ilhttuqhh dtuqu{hLbhpfr tphu:\fy 1 5,0 CZ huln 10000 40000 4

33111140 $1nr-npnqpur$fu:1f druqullhtr \unl hullurpdhp cz huln 35000 420000
12

32351230 tlthuiqhh durqu-nlhh 13 * 1 8 rnnL+ 8000 24000

323st230 flhLuqhtr du:qun{hh 18x24 ulnL+ t4000 84000 o

323s1230 fthhrnqhh duqunlhh 24x30 7> urnr-r| 22000 44000 z

32351230 Ilhhuqhh druqur{hh 30*40 CZ rnntrJr 35000 245000 7

331.41143 Ullutpf Sf \uurnp uuhplrl huur l0 200000 20000

38511340 OUE\uqur\[r 18/18 -, hunn 5 100000
20000

33790000 trurdu:\ 250ri1 7t hurn 1 100 2200 2

33141131 SmpL|\hur' $ur\urtrnr{ C2 huln 800 24000 30

33111240 'tlf qhu\utlf burlpur\ur1 I oooil\1 C2 hurr,n t2 12000 1 000

331,11230 t[qhu\u1f bulpur\ur1 200rI\1 cz hrur.n 10 20000 2000

33 1 I 1230 'tlfqhu\urif bur3prulru1 1 oLI\1 hurur 10 20000 2000

33200000 tlrqhur 0.hI1 huru 1s0 7500 6n

33200000 tlfqhur 0.02ri1 7' hurur 150 I 5000 100

33200000 Afqhu 2,5 r.[1 qlururnilruuh uurhd.fr\ml c2 hurur 80 4800 OU

33 19 13 10 8hhuplr$nqurjf $np&ubnp Lfr2ml hurr,n 120 36000 300

33 19 13 10 Qnp&ruhnp Z-12 hurtn 110 22000 200

33631260 3n4]r lntbnrlp 5 rnn\nu cz $L 170 3400 20

33161220 Cqururhl c2 huu l) 4s000 3000

38431490 tthuplrf pruu (Uqur\1 ru) C2 hurur 4s0 54000 120

331 11220 Qnpltutrlr \urtthpru CZ hutn 3s00 1 0500 ?

33790000 2n1 fuurnhfrl hurr.n 10 2200 20

33790000 tlnqulnnp CZ hurtn 5000 5000 1

33790000 2u$f1\npur 25rI1 7' hrurn 1000 4000 4

33790000 Irnpur \nhur&b 500rI1 hir2hpm{ -, hurur 2000 6000 5

39261 000
lphLur\urh qlrurnrlptrhp h qpuruhtrlur\urllrtr
rln|-fltTr trcuz huq.4pull

300.0 300.0
I

33760000
ihutuur\urtr,uruLhlrqlrhLlr\ lt f{utgph
Jfr2ngtrhp trcu2 rurq.4pulrf

990 0 990.0
I

50311240
Zurilut\utpq1u1 frh,rqunndhhurhurhrlurh
uurnDull nrrnlilhtn h odurhnurt llmrohn trcuz rurq.qpull

900 0 900.0
I

331 00000 trd2\ullurL qnpb[rphhp,pmduurppunlnpmrfhtp trcu2 rurq.4pull
+

500.0 500.0

31 700000 h th\rnpururhlutrlr\ur,nurlfrnrnhfu trlrllur h
t thqurnuthh uurnpurd nnnr-Llhhn

trcuz hurq.4pulf
s00.0 500.0

I

uctuusuL€Lbf
39261 000 Squrqpnr-p1nrh cz hurq.nnunl 2,200.0 2,200 0

56311240 Purpppfr2htplr firgpullnprfurh trCUZ hurq.qpunl 200.0 200.0 I

50311240

Zudu\upqf2hhplr, hullur\upqprJhh
uurppunlnpmrflrtp[, urq]rytrtp]r h odurhqurll
uurppuqnpnlilbtpf {hprutrnpnqrfurh

trcu2 huq.4puril 300.0 300.0



50421300

ft hLuqhtr utluurnpn2]r2 uurppurrlnpilurtr

4nqur2ur{rur\urh, ntlnnqth llupfhtu}r
utluhf \ur\urh urh&trurqpunlnprfurh,
urhd,trur\urqil]r urhhururur\urh 4nqurlunlrur\urh
hu\nrlnrplnrh

trcuz hurq.4pull

A4.A A4.A

33000000
trmduurppunlnpnulhhpfr rlL puhnpnqrlurtr trcuz huq.4puril

300.0 300.0

48440000
Zur2rluulurhur\urtr {ruruururfrqldbph
hurnnurnrftuh, t urnrftuh h lrurqdilulL

trcuz hurq.rlpuril
200.0 200.0

uuftuSnhrd3nr.LLbr
6521 't 100 trtru\ub qurq[ ilrunur\urpurpnrd Feuz rurq.qpunl 6,000.0 6,000.0

6531 0000 h1h\upurLbhFshurl h r.lunnur\urpurpnul FCUz rurq.4pull 8,000.0 8,000.0

64211230 Sf pu{ub hhnurlunuur\un1 trcuz rruq.4prur.[ 520.0 520.0

92711100 Fhrnhphhrnurlhlt \*rth rn;rulfur4pnul trcuz rurq.4purrl 180.0 180.0

34141320 Uryrurhhnurgrlurtr trcuz rurq.4lunf 115.0 I15.0

65111100 fu ilh1m 2plr rlururur\urpur;rntr.l trcuz rurq.4punf 320.0 320.0

661 71 1 00 Or-untgrlurtr h lunphp4ruur{mplurh trcuz rurq.4puril 250.0 250.0

661 00000 truh\u1 f L uqururup\rlurtr trcuz rurq.4puLf 150 150

64216140 Ilunfnr-flr purdurhnpqurqprlurtr FCUZ hurq.4puril 150.0 150.0

71 250000 UurppunlnpmrlLtpf yut|t uqpilulr trcuz hurq.4purtt 700.0 700 0 I

51131700
trd2\ur\urh pullrnhhtpfr rlmtu phprlurtr h
nthturqdurh

trcu2 hurq.4purtt
300 0 300.0

ehmtlhhplr hur.fur\urpqnrl' 9.'tlurq3urh


